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1. (4 pts) Which of the following reactions involve inversion of eenifiguration? ,~ ¢
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2. (10 pts, 5 each) A) Give the structure of the major organic product in each of the following
substitution reactions, and B) predict whether the mechanism will be predominantly 1st order
(Sx1) or second order (Sn2). Be sure to show the correct stereochemistry of the product whef
necessary. If the product is a racemic mixture, draw both enantiomers. [
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3. (10 pts, 5 each) A) Give the structure of the major organic product in each of the following C f%gy;;) :
elimination reactions, and B) predict whether the mechanism will be predominantly first order
(E1) or second order (E2). BE SURE TO SHOW THE CORRECT STEREOCHEMISTRY OF

THE PRODUCT WHEN NECESSARY.
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4. (10 pts) Write the complete mechanism for the following substltutlon r@gﬁmthatix lams
the formation of the products glven
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Explain WHY the syn addition proauww«mﬁgmy pwuuu obtained when 1- * boe, ~
methylcyclohexene undergoes hydroboration by 9-BBN. (Please show the mechanism of this
hydroboration to aid in your explanation). ,D . Twﬁyg%"“”gﬁww
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6. (2 pts) The IUPAC name of the following compound is 1-chloroethene.
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7. (3 pts) Which of the following is the optimum set of conditions for a@actlon of t-butyl (;}/
bromide? ) 3
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8. (4 pts) Give tne mamr produet of the following reaction: ;‘f‘; [ ,,rgw)é} v E«\c‘s ﬁm
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9. (3 pts) One of the isomers of 1-chloro-2-methylcyclohexane gwe@Z elimination
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10. (5 pts) Explain WHY, in the acid-catalyzed addition of water to 2- methyl propene the

major product is 2-methyl-2-propanol and not 2-methyl-1-propanol. ;{f d>
‘ o
CH | s
3 A .80 L o
ool — POl ClL=C —ClL ol
S “h e - f
CHE I+

: %}ug,\é .//)@/ P
}’\7 (,}ﬂ)’ e @z%'{"{m To PR Q:”‘ﬂ“"/}“""\@x w. /a“( %ﬂg&f%‘ v}z\ o N4 J@ﬁf Cerrel
Ao 5Tce Pk ok SHRbLl Qurb s on jndermedioke (a0 27 w&;«fdm

/ . A ; e
7)\"4 !r\ b’”ﬁ"‘*@(dz# RYane j) S AT aF JUNRy SV /:)\”\ i“lz W o] e WA Lae Ty {:me 7‘*}%»%
- cd ks Lot



11. (6 pts, 3 each) Which compound in each of the following pairs will react faster in an Sy2

reaction with OH™? (Circle answer) Briefly explain why you chose your answer. —
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12. (4 pts) The name (E)-1-isopropyl-1- butenw é%»a a?ﬁ why 1£ is incorréct
give the correct IUPAC name. o) e Nﬁ,f % Dy T ,fg T
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13. (28 pts, 4 each) ((we the QTTU.CTHI’C"OT the major orgamc product of each of the following
reactions. Clearly indicate stereochemistry where appropriate. If the major product is a pair
of enantiomers, only draw one of the ! two structures.
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14. (3 pts) Draw the bromonium ion intermediate formed when Br, reacts with 2-methyl-1-
propene. ,
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